SER 2 148 H 3 0 H#IT

%4 5 EIRELTE AR (NEBERX) REKR

E N
X4y MBHEEEE | BREEK HHEEHK BER
11, 126 A 8, 762 A 2, 364 A 78. 75 %
¥ H &R ESHE 5, 408 A
% B OH AT R R 3,311 A
FTEEREE 43 A
12, 336 A 9, 677 A 2, 659 A 78. 45 %
Y OH B EH 5,305 A
LS B R AT R R 4, 300 A
FTEEREE T2 A
=10 23,462 Al 18, 439 A 5,023 A 78. 59 %
= 5
X4y YEAEREER | BREEK LR BRER
) 3 A 1A 2 A 33. 33 %
= 2 A 0 A 2 A 0. 00 %
=18 5 A 1A 4 A 20 %
& &t
X4y MBHEEEE | BREEK EHEEK BrEg
5 11, 129 & 8, 763 A 2, 366 A 78. T4 %
= 12, 338 A 9, 677 A 2, 661 A 78. 43 %
=1 23,467 A| 18, 440 A 5,027 A 78. 58 %




SER 2 148 H 3 0 H#IT

% 4 5 EIRELiE B WEREE (LAIR) REKR

E N
X4y MBHEEEE | BREEK HHEEHK BER
11, 126 A 8, 761 A 2, 365 A 78. T4 %
¥ H &R ESHE 5, 408 A
% B OH AT R R 3, 310 A
FTEEREE 43 A
12, 336 A 9, 675 A 2, 661 A 78. 43 %
Y OH B EH 5,304 A
LS B R AT R R 4, 299 A
FTEEREE T2 A
=10 23,462 Al 18, 436 A 5,026 A 78. 58 %
= 5
X4y YEAEREER | BREEK LR BRER
) 3 A 1A 2 A 33. 33 %
= 2 A 0 A 2 A 0. 00 %
=18 5 A 1A 4 A 20 %
& &t
X4y MBHEEEE | BREEK EHEEK BrEg
5 11, 129 & 8, 762 A 2, 367 A 78. 73 %
= 12, 338 A 9, 675 A 2, 663 A 78. 42 %
=1 23,467 A| 18, 437 A 5,030 A 78. 57 %




SER 2 148 H 3 0 H#IT

%4 5 [ERFEHERRESE (ARFE) KEFR

X4y MBHEEEE | BREEK HHEEHK BER
11, 126 A 8, 498 A 2, 628 A 76. 38 %
¥ H &R ESHE 5, 398 A
% B OH AT R R 3, 007 A
FTEEREE 43 A
12, 336 A 9, 412 A 2,924 A 76. 30 %
Y OH B EH 5, 299 A
LS B R AT R R 4, 041 A
FTEEREE T2 A
=10 23,462 Al 17,910 A 5, 552 A 76. 34 %
& Bt
X4y MBEHEER | BREEK EHEEK BER
bz, 11, 126 A 8, 498 A 2, 628 A 76. 38 %
z 12, 336 Al 9, 412 A 2, 924 A 76. 30 %
=1 23,462 A 17,910 A 5, 552 A 76. 34 %




